> F:=1/((1-x)*(1-x"5)*(1-x"10)*(1-x"25)) ;

F = I
(I —x) (—xs-i—l) (—xlo—l-l) (—x25+1)

> S:=series(F,x=0,100);

S==1 —|-x—|-xz-|-x3-|-x4-|-2xs—|-2x6-|-2x7—|-2xg-|-23€9—|-4xlo-|-4x11 +4x12—|—4x
—|-4x14—|—6x15—|-6xl6-|-6x17—|—6x18—|-6)619-i-9xzo—i-9x21 —|-9)622-|-9)623—|-9x24
+ B3 B3B3 B3+ 137 + 180 + 18 4187 + 18 %" + 18
+2457 4245 42457 4248 4247 +31 0 +31 M 4317 #3147 #3147
+39x" +39x" +39xY +39x® +39x" +49°° +49 7" 449 177 +49 57 +49
+60x" +60x° +60x" +60x°+60x" +73x0 +73:x%" +732 +73:% +73:%
+87x% +87x% +87x7 +87x® +87x% +103x"° +103 %" +103 x* + 103 x>
+103 X + 121 x° + 12120 + 121 %7 + 121 X + 121 577 + 141 5% + 14133
+141 3% + 141 5% + 1415 +163 8 +163x*° + 16358 +163 ™ + 163 2™
+187 X0 + 187" + 18722 +187x" + 187X 4213 x> +213x° +213 %"

| 213+ 21307 +0(x'")
> 1/((1-p*x)*(1-n*x"5)*(1-d*x*10)*(1-q*x"25)) ;
1

13

(-px+1) (—nx5+1) (—dxlo-i-l) (—qx25+1)

> series(%,x=0,12);

1+px+p2x2+p3x3+p4x4+(p5+n)x5+(p6+pn)x6+(p7+p2n)x7+(p8

+p’n) S+ (P ) X+ (= (-p=n) n+d) '+ (p!' = (-p°—pn)n
+pd) ! +O(x12)

B coeff(%,x,10);

| P = (-p —n)n+d

> simplify(%);

p10+np5+n2+d

B coeff(S,x,83);

141

> g:=product(1/(1-x"k),k=1..20);

g = 1/((1—x) (—x2+1) (—x3+1) (—x4+1) (—x5+1) (—x6+1) (—x7+1) (—x
+1) (—x9+1) (—xlo-i-l) (—xll-i-l) (—xlz-i-l) (—x13+1) (—x14+1) (—xl5
F1) (2 +1) (X7 1) (2 +1) (X7 +1) (0 +1))

B series(%,x=0,20);

L +x 42 430 +5x57 +7°0 + 110+ 155 +225° +300° + 425" + 56 5! + 77 x"2
+101x7 + 135 6" 4176 x'° +231 "% +297 x'7 + 385 x'® +490 x'° + 0(x*)
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